


Which of these terms is the BEST
synonym for the word "entrepreneur"?

a. business owner
b. home owner

c. employee

d. student
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As one of the factors of production/productive
resources, capital can be defined as
a. the goods and services a business produces.

b. the supply of labor needed to produce goods.
c. the people that purchase goods and services.

d. the equipment and factories needed to
produce goods.
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Land, labor, capital, and entrepreneurship
are the

a. basis of employment.

b. results of production.

c. factors of production.

d. results of supply and demand.
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Which of these BEST represents capital
investment for a company?

a. advertising

b. renting space

c. buying new equipment

d. hiring new employee
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As developing nations industrialize and make use of
capital resources, new challenges to the supply of the
world's natural resources will no doubt appear because

a. the newly developed countries will industrially overtake
the existing developed countries.

b. the rate of depletion will increase as developing
countries begin to use more natural resources.

c. more developed countries do not want developing
countries to become more economically independent.

d. the developing countries will learn to bargain with their
natural resources and impact the economies of other
nations.
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Which type of cost occurs when an individual
pays for a piano lesson instead of going to a
movie?

a. fixed cost

b. marginal cost

c. residual cost

d. opportunity cost
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An opportunity cost is

a. usually absent in a command economy.

b. when goods are recycled into other goods.

c. the next-best alternative you give up in order
to do something else.

d. is only an issue when there is not a scarcity
of goods and resources.



An opportunity cost is
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b. when goods are recycled into other goods.
C. the next-best alternative you give up in
order to do something else.
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Mr. Stevens owns a building in downtown Bentonville. He
has considered opening a sporting goods store in the
building but has also been approached by someone who
would like to rent the space to open a gym.

If Mr. Stevens decides to open his sporting goods store,
what is the opportunity cost of this decision?

a. the opportunity to rent it to another tenant

b. the property tax he would pay on the building

c. the opportunity he has to run his own business

d. the profits he would make from his sporting goods store
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The basic economic condition that exists when
unlimited wants exceed limited productive
resources is called

a. capital.

b. scarcity.

c. hyper inflation.

d. opportunity cost.
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The BEST explanation of why there will always
be scarcity is because

a. people and their tools are inefficient.

b. natural disasters create frequent shortages.
c. governments create scarcity to keep people
wanting more.

d. while peoples' wants are unlimited,
resources are limited.
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The study of how individuals, institutions, and
society make optimal choices under the
conditions of scarcity is

a. allocation.

b. deregulation.

C. economics.

d. specialization.
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Software Economy (2007 to 2011)
* Global Information Technology (IT) employment will rise by 7.1 million jobs
* More than 100,000 new businesses will emerge as a result of the growing
IT field

* IT business will be responsible for over 25% of the new jobs throughout
the world

What type of resource does the data represent?
a. capital

b. financial

c. human

d. natural
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Mr. Green is opening a new bakery. He has
purchased an industrial oven which can
accommodate twenty loaves of bread at a
time. This oven represents which factor of
production?

a. capital

b. entrepreneurship

c. labor
d. land
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